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2.


public int[] getNodesAtEachDepth( BTNode n )

{
int[] depths = new int[ getHeight( n ) ];


addDepths( depths, n, 0 );


return depths;

}

public static void addDepths( int[] depths, BTNode n, int curDepth)

{
if( n != null )


{
depths[curDepth]++;



addDepths( depths, n.left, curDepth + 1);



addDepths( depths, n.right, curDepth + 1);


}

}

3.


public int getSize( Directory dir )

{
// get sub directories


Directory[] ds = dir.getDirectories();


// get files in dir


File[] fs = dir.getFiles();


int total = 0;


for( int i = 0; i < fs.length; i++)



total += fs[i].getSize();


for( int i = 0; i < ds.length; i++)



total += getSize( ds[i] );


return total;

}

4.

public Expression createPostfixExpression( Expression ex )

{
Stack s = new Stack();


Expression result = new Expression();


ExpressionToken currentToken;


ExpressionToken topToken;


int tokenType = 0;


ExpressionIterator it = ex.getIterator();


while( it.hasNext() )


{
currentToken = it.next();



tokenType = currentToken.getType();



if( tokenType == ExpressionToken.OPERAND )




result.addExpressionToken( currentToken );



else if( tokenType == CLOSE_PAREN )



{
topToken = (ExpressionToken) ( s.top() );

while(  topToken.getType() != OPEN_PAREN )




{
result.addExpressionToken( topToken );





s.pop();





topToken = (ExpressionToken) ( s.top() );




}



}



else if( currentToken.isRightAssociative() )



{
topToken = (ExpressionToken)( s.top() );




while( ( !topToken.isRightAssociative() && topToken.getPrecedence () >= currentToken.getPrecedence() ) || ( topToken.isRightAssociative && topToken.getPrecedence() > currentToken.getPrecedence() ) )




{
result.addExpressionToken( topToken );





s.pop();





topToken = (ExpressionToken)( s.top() );




}




s.push( currentToken );



}


}


while( ! s.isEmpty() )


{
result.addExpresssionToken( (ExpressionToken)( s.top() );



s.pop();


}


return result;

}

